
690 SUPERMOTO BLACK 2008 <2008><EU><9726H3>
LIGHTING SYSTEM

6267

Pos Part Number Description Additional Text Quantity

1 75014001000 HEAD LIGHT LC4 07 1.00

2 57111038000 BULB H4 12V 60/55W (P43T) USA 1.00

3* 58614001050 RUBBER CAP FOR HEAD LIGHT 05 1.00

4 0016050121 SCREW FOR PLASTIC 50X12 BLACK 4.00

20 60114025000 FLASHER CPL.FRONT L/S REAR R/S 2.00

21 60114026000 FLASHER CPL.FRONT R/S REAR L/S 2.00

22 60114028000 FLASHER LENS L/S R/S TRANSP.06 4.00

23 60114027000 BULB 12V ORANGE (RY10W) 4.00

24 0433100003 Washer DIN0433-M10 front flasher 4.00



25 0797100003 LOCK WASHER DIN6797-J10,5 ZI 4.00

26 75014030000 FLASHER NUT M10X1,25 WS12 2.00

27 58414030000 HH COLLAR NUT M10X1,25 WS=13 MINI ADV. 2.00

30 75014040000 REAR LIGHT LED 07 1.00

31* 0025050126 HH collar screw M5x12 TX30 2.00

33 75014047000 LICENSE PLATE ILLUMINATION 07 1.00

34* 0081050181 SCREW FOR PLASTIC K50X18 T20 300 TPI Erzbergrodeo 1.00

35 49011435100 BULB 12V 5W (W2,1X9,5D) PHIL. 1.00

40 75011076000 WIRING HARNESS REAR 07 1.00
* = New part


